TS S W D

e

o ‘J-}'
LR S naa, o, T CEEE LI T e e £ B
v - Qb 9205¢
MTH 213 Discrete Mathematics Fall 2017, 1 © copyright Ayman Badawi 2017
Exam I: Discrete Math, MTH 213, Fall 2017 P
sl s 7
Avman Badawi [ =TT =
f ——=
Score= == f i e
QUESTION 1. (3 points) Make a brief argument in order to convince me that Q@ (0.0.002)) =\‘v
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QUESTION 4. (4 points) Let a = 424, b = 159. Use the method we discussed in class to find gcd(a, b).
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Find LCM (a, b).
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QUESTION 6. (3 points) Use direct prove (max. 3 line) to show thar for evary po
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Convince me that &0 is irrational (Hint: First write V60 =2 x 13. 8o You oaly nead to show 15 is frrational).
o \ 1 4 -3 ' i
+/o {".o,\., Thal 6’0 = 2"} K'., /ﬁ S . i :
= 553-1 N Yalyewa
. 23
= .ﬁ%" e G )| ' \
‘ /s :v H ';' \ ‘; b | » . \.
b SE¥E 9/96:}0... 0. acd fa r;.-::_
3 g S
1
’; a- r N W1
. P ' i {72+
- o~ < ~ - [ A .
- C b A T ez } 1 \ e
5° TN e,y e el g1y . LZEAD
7 / = - x
(Z=+9) 2
_.‘:. L
- 7 Xy 'r-f‘ \ U
L X 1 A - t el
{ t') Lo [rp = €] W’ Sy G ‘k._L !; j
60wt , wi 18 - By g
60w +14 4 [ & 1k
R
\__\._—-—..._./ & 1 ¢
TUBR 3] 1 - B s r T
» L' ‘f(k"‘:) fiev u SL.O“L qi¢ e )
(//L/ s w3 i
. 1 " ) Ve - a»
J i U =) coxl 3 P e
[ ‘oa 0‘1{ £ 72 Ao tls



T

v S

“Tta {:uua '

7 Y\6

‘l"'a'{.‘.'.
X

- Yeo

\

k= )IV‘

;S

L]

17 g

{:.t " l



M gt\.hl A]C' l“' ‘-"“— Exam I Discrete Math, MTH 213, F2!l 2017

)

QUESTION 8. Write T or F ONLY(4 points) Let A = {r.{r}.3.{y}. {3.2}.4) $u% " €
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QUESTION 9. Write T or F ONLY(6 points)

(M {(1.1).(a.a).(-2.-2)} is an equivalence relation on A = {l.a.-2} T (_/
(i) [(0. 0.001)| = |Z| (note (0, 0.001) is the set of all real numbers between 0 and 0.001) %{
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QUESTION 11. (8 points) Let x be the number of all females in an event. Given r is an_even number (ie..x =

0 (mod 2)). If x is divided by 11, the remainder is 5. If r is divided by 7, the remainder is 6. Use the Chinese remainder
Theorem to answer the following:

a)If 0 < r < 154, what is the value of 72
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b) If 154 < r < 308, what is the value of z?

/
\cf‘n',') ?,S?)

2 Mk, g/ ® /



4 N\‘%d\ll A‘G \N\\ﬂrck

Ayman Badawi

QUESTION 12, (8 points) Let A =

QUESTION 13, (10 points) Let A =
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